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FAM FM2S
Y HY2IZHI(FAH2S)
Eel: 015 23| (Sl &)
5 o A
FA R CA(EA) - NFAY - BYES Oll & <4 Ol AF o8 BlusZ
g EZ3 10,200 10,200 0
elg 23yl 10,200 10,200 0
203 Y= 10,200 10,200 0
01 JIH=gg==al 7,200 7,200 0
OsH(l+82H0I2t) 7,200
04 FA=SIHEFFAU 3,000 3,000 0
Od& 15210l 5t 250,000& 122 3,000
Jl23sl 55,910 44,449 11,461
Jl23bl 55,910 44,449 11,461
201 Let=g 26,110 13,249 12,861
01 Atz 2l 14,326 12,649 1,677
Oggte==d| 10,802
oeg=+¢ 500
O=gtl 7,000 *34 128 123 3,024
02 =522l 11,784 600 11,184
Oz3a3 % HAl 11,784
202 Odl 28,800 31,200 A2,400
01 =LHOIHI 28,800 31,200 22,400
O2tLH 04l 200,000 x12& x12& 28,800
405 KHeHH = 1,000 0 1,000
01 XML =FFHSH 1,000 0 1,000
OdIoId ZelH 500,000 »2CH 1,000




